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Instructions for the candidates :

Candidate must enter his / her
Question Booklet Serial No.
{10 Digits) in the OMR Answer
Sheet.

2. W qurve g ¥l # B 2. Candidates are required lo give their
I &1 answers in their own words as far

as practicable.

3. e 3R B W 2} g 3f@ qoif 3, Figures in the right hand margin
Fifgee avit &) indicate full murks,

4, HE W g & [ 4. 15 minutes of extra time have been
gRlenfegl &t 15 B @1 Hfafer arg allotted for the candidates to read
feem Ty &1 the questions carefully.

5 gF w¥ yﬁﬂﬂﬂ xt sl 7 #— WUE-I 5. This question baoklet is divided into
Uy avg-u/ two sections — Section-A and

Section-B.
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YU - A / BECTION - A

URFTS e / Objective Typo Quostions

¥ Waar 1/ 70 7% % 0Riw vy & wny 9w frwew fre me & Rred @ e wat &
HTH yrer g T W@t Rrerew wh omr vz wr fafa wit fet as wval wr g €

35x1=35
Question Nos. 1 to 70 have four options, out of which only one is correct. You have to
mark your selected option, on the OMR-Sheet. Answer any 35 questions. 35x1=35

1. AIRR 3N & TR &
W ER |) UEEE

[C) T (D) W

An exnmple of amorphous solid is

(A)  Dinmond (B}  Graphite
(C)  Sull (D) Rubber
’ KOH
2, affiFar Cylighr —==s W TR ¥
(A)  CHy=Cll (B) CH;ClI,0H
(C)  CHyCH,0CH;CH, (o) T A B W
fon ColgBr —2t_y |y
The product of the reaction CplgBr —rmm
(C)  CH,;CH,0CH;CH, (D)  none of these

s i frew @i i f s gew o b 2
() e e U

wf  Wfgad T o) e s
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Photographic film plate has an essentinl ingredient of

(A} silver nitrate (B)  silver bromide

1€ sodium chloride D) oleic acid

Mﬁi&ﬁmﬁﬁm%fﬂqﬁméﬂﬁﬂﬁﬁﬁﬁr&wzﬁ??
A w g
_M T D) i

The unit of rate and rate constant is same for the reaction of which order ?

(A) Zero . (B) First
(C) Second (D) Third

5. fva o et Gesier dama fforan g & 2
(A) HCHO . (B) CH;-0-CH,
(C) CzH,CHO : (D) CH,CHO
Which of the following undergoes aldol condensation reaction ?
(A) HCHO (B) CHy-0-CH,
(C)  CgHCHO "~ (D) CH,CHO

6. il Wit 1 atfywar @ afwiear w0 o &

(A)  NH,Cl ' (B]  N,+HC
(C}  Nz+NH,ClI - (D} Np+NCl,
Chlorine reacts with excess of ammonia to form

‘) NH,CI (B)  N,+HCI
@ N, +NH,CI (D)  Np+NCl,

| 118 | B {(A}-9005-Bpz|
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7. abn o e ad Qark »

(A tern B R

Wi N ) ke

Which s not affected by temperatne ?

1AL Normalhty (1) Moy

(1 Mokuity (1) Paormadity

8, werrer i wd diurs N ufeafl @M A fen anewa i ol Ml B
(v afie 3w gy Rk gl
@) ol 3wl w) e gl o fnfinr 3wl
The minimum amount of energy requitel to convert reactunt moleculen int
procducts is
(A) Rinetic enetpy (1)  Potential enerpy
(C)  Activation ¢nerpy (D) Kinetic enerpy | Potentin eneryly
o,  shfirw aifeinur 3F smm s grafnn il @ asmol) )
() 2010 (M) 4060
(C)  060-80 N) 40100
In physical ndsorption the approximate hieat encrgy evolved In o /mal by
(A} 20-10 1y 4060
(C) 60-80 N 40400
10, §y2 Feafafe 3 Frator g &

(A) T HARET () UwTor AW u

(C) Y I Wl

[ 118 | B [(A)-9005-Bua
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11.

12.

13.

2,2 mechanism proceeds via formation of

B} Transition atolf

{A)}  Carbocation
(D) Carbanion

[C}  Free radical

ﬁ'ﬂﬁz}ﬁfm-mu’rﬁmmﬁhﬁﬂ% ?

-'O—' ~1%5
A}  CHCl, @) CaHs 2

(C}) CCl,
Which onc of the {ollowin

(A) CHCl,

(Ci sp (D) spid
The hybridisation of carbon in carbonyl group (— é: =(Q)1s
(A) sp |) sp’

© sp’ D) spid

Grifesese & NaOH %ﬁaﬁ#%wﬂﬁaﬂﬁmwﬁm%

(A) wIAe 3 (B) i

) Bfaw e © tp) iU W
Formaldehyde on heating with NaOH solution gives

(o)  Formic acid ) (B) Acetone

() Mecthyl alcchol (D)  Ethyl formate

[118] B [(A-9005-Bex Page 6 o128




M sl - N G an g b

) ek wy  frie

(€ FRe aelwe (L) % 0w el
. .« - "10‘

The product of the reaction C ;N = N Cl———> in

(A} Aniline (B)  Phenol

(C)  Mecthyl alcohol (D) nonc of these

15. Twmiw afuvitaor 5§ feesit wed gl § 2
(Al T B w

€ ¥ D) A

How many lnyers are involved in chemical adsorption ?

(A) Onc (B) Two
(C) Many (D) Zcro
16. e, et @ Foreds v afifrm s v e & 2
A OfeefcsRs (B) Ufwes
© uwnifesegs (D) TERRSR
Bakelitc is obtained from phenol by reacting it with
(A)  Acctaidchyde (B) Acctal
(C} Formaldchyde (D) Chlorobenzene

17.  Iraraars AT K, (NCN) ) 3 Frbe @) sifaiton s @

(A 0 B +1
€ +2 o -1

[ 118 | B [{A)-9005-Bpsa) Page 7 of 28




In co-ordination compound K ,{Ni(CN),], the oxidntion stat

& o (B)
€ +2 (D)

18, W v gt )

) CHNH, (B)

(C)  CH4NH, 12
Which is the most basic ?

(A)  CH.NH, (B)

(C)  CH;NH, (D)

19. HRRERIEH IenteTer o W T &
(A)  CpHyp, OH - ' ®
(€  CyH,0H (D)

The general formula of monchydric alcohol is

(A] an'A‘I'I . lOH (Bl

(C)  CH,,OH (D)
20. 3y FrAfiae o A fewm s 2
AR (B)
€ ¥ (D)
Milk is an example of
(A) emulsion (B)
(C] sol {D)

+1]

-1

(CeHs)2NH

(CH3);NH

(CgHs)aNH

(CH,),NH

an‘.’n »QOH

wH } 7 T

CHHII'I 920H

None of these

Frenam
¥ R Fi

sSuspension

none of these

¢ of nickel is

[118] B {(A)-9005-Bya)
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21.

13
X

24,

R Feem o &

€ S i Ar

Galena is an are of

(Al Su ) Pb

€ i (D)  Ag

Hfufiwm oncit, - (c1ou), - cHo—L2— v 1 T R

(A W (B) n-Ea

(C) ToEfw e o) ¥ d FiE A

In reaction OHCH, — (CHOH), - CHO—2....... ... , product is
(A)  Fructose (B) n-hexane

(C)  Gluconic acid (D) None of these

frr 4 @ fped pr—dn WA E ?
(A} NO, (B) €CO3”
(€ BOZ (D) SO32"

Which of the following has pr-dn bond ?

(A)  NO3 (B) CO3"
() BO?% (D) SO3"
a1t 16 % T FEAW €

AR EEA | (B) TR
(c wETE o) FFT W

[ 118 | B [{A)-9005-Bu2) Page 9 of 28




26.

27.

The elements of group 16 nre known an
(Al Halogens (8)  Chalcogens

([C)  Transition clements (D)  Noble pases

WM ] SRt T T SRV el Wi e a6 B

(A} Ni (B) Cr

(C) Fe Dy Mn

The clement showing highest oxidation state among first transition serics is
(A} Ni (B} Cr

(C) Fe (D} Mn

ﬁmﬁﬁa&ﬁ.ﬁfwamﬁqmim%mﬁm%?
W deEmE B TR

(C) T Uy (D) TR U
In which of the following clements 4f energy level is gradually filled ?

(A)  Lanthanidces (B)  Actinides

(C}  Transition metals (D)  Coinage metals
K;3[Cr(C,04)5] ¥ Cr ®} Iuwpdam d@ &

A) 3 B) 4

€ 5 D) 6

The co-ordination number of Cr in K,[Cr(C,0 a)s] is

@ 3 B) 4

@3 D 6

[118 ] B [(A)-9005-Bpz|]
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30.

b s M ) s wr d @ g TRE WA EME) 09 R

LIRS of ) _I-Hl IT:I

tA) ’
o) & W oeek

)  wITE®

The Electromotive force (EMF) of the cell for the cell reaction at equihibrium

state is

(A positive 1) 2e70

(C)  negative (D) none of these
Fwan iz & ySF EE W Wt @A R

(A} HCHO (B) HCOOH

(©) CHCOOH (D) CH,CHO

Dry distillation of calcium formate gives

(A} HCHO (8) HCOOH

(C) CH,COOH (D) CH,CHO

A, B 3R ¢ o/l ® 5FE W99ER fawE Or ®Ee: + 0-68 V. -2:50 V 3R - 0-50 V
¥ ITHT HIUGT VIh W FH ¢
) A=>B>C B A>C>8B

€ C>B>A (D) B>C>A

The standard reduction potential values of elements A, B and C are + 068 V,
-2:50 V and - 0-50 V respectively. The order of their reducing power is

A} A>B>C (B) A>C>B

‘C' C>B>A 'D) B>C>A

[ 118 ] B [(A)-9005-Bisa Page 11 of 28




3] $ARM wn R ?

(A)  anawge i AT
(c) Wi iy A
What is an cnzyme ?

(B) Lipid

{A)  Carbohydrale
(D) None of these

(C}) Protein

32, WEEIES AT F1 HiEvl e A &
W F-aeead faf gRe @  faga-faea far g
@ oy @

Sulphidc ores are concentrated by

(A)  Froth floatation process (B) Electrolysis

(D) none of these

(C) Roasting
33, feeeer wwma g Al €
44 FaemA d (B) Fawy
c UeH (D) @&l H
Tyndall effect is observed in
(A)  Solution (B) Precipitate
(C) Sol (D) Vapours
34, Cfewel degs Td wifsan v & dia awiear s &
(A) & v (B) HIe sffirar
©f T S D) T R

[118] B__ﬁ;l-QOOS-Bma Page 12 of 28




37.

The trartion between alkyl hahide and sodjym metal in calied
(A Wutts reacthion ) Kolbe'a reaction
() Clemmensen's reaction

(D) None of these
ICrH,0),CL, 1 AR X Crw) aitaedteor dn b

A) o\

(&

B) +3
D) +6

The oxidation number of Cr in the complex [Cr(H,0),CL, |* is
(VN |

B) +3
€ +5 (D) +6
atwfina 9 @"i ma—hi‘-++ 2NaX ® WA &
A Twfen afwfem B T Afufirn
€  TH-fefen afufim (D) W fufira

Reaction 2@ + 2Ng Sther | Q @ + 2NaX is known as

(A) - Fittig reaction (B) Wurtz reaction

(C)  Wurtz Fittig reaction (D)  Kolbe's reaction
freier 1 Aeremer weens F P & few o & oo it fear
AL ?

@A) w2 AhE . B) P sl

(€ - wfvfiea Mﬂ:ﬁmuaﬁﬁw

| 118 B [{A)-9005-Bea] Page 13 of 28




1

ried 0
By which of the following reactions Phenol 18

Kolbes read
(A)  Etard reaction (1) |
Aro's reaction
annizzara 8 T
(C)  Reimer-Tiemann reaction () can

mﬂﬁﬂaﬁmﬁmfﬁmﬁmﬁ#?

38.
Al HCI apf  CHCly +KOH
(C) NaOH b}  CHCLs
Primary amine is detected by
(A Hcl ()  CHCl; + KOH
(C) NaOH (D)  CHCly

39, it A §
&
(A faf= (B) TEH

(€ piCA ] (D) A S
Ascorbic acid is a
{A) Vitamin (B Enzyme
(C)  Protein (D)  Amino acid

40. °% T3 A IR F A9 H T A L, FEAA L
(o EoLe i B dEgwRt
) st D) A FH

(118 | B [(A)-9005-Bra)]
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41

2.

43.

A substance which lowers the body temperature is known as
(A Antipyretic (B)  Analgessc
() Antibiotic

(1) nonc of these
W W Aa AT WO R el e R e tem o 2o ads a2
R R 2

(A)  ¥iiZE g (B) Théet T

(C)  F-centre D) ™ W B A4

When an clectron occupics the empty space of negatively charged ions, then the
deteet in crystal is

(A)  Schottky defect (B) Frenkel defect

(C)  F-centre (D)  None of these

Ca(NO,),H I ¥1% TVIE &l &

(A) 1 B) 2

© 3 D) 4

The van't Hoff factor of Ca(NO;), is

(A) 1 B 2

) 3 (D) 4
G TR T8 309 H

(A) T (B} DNA
4o faabm (D) ¥R

[ 118 | B [(A)-9005-Bua
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The human body does not produce
(A) Enzyme (B}  DNA

(C}  Vitamin (D) Hormones

44. Znls) | Z0%'(aq) || Cu®(aq)| Cu(s) b

(A 3R Jer * Ji{} et #@

(C) el qer (D) ¥ @ wid
Zn(s) | Zn?'(aq) || Cu®'(ag)| Cu(s) is

(A)  Weston cell (B)  Daniel cell

(C}  Calomel cell (D) Nonec of these

45. CH,CN & 37eavl 9 Ui g1 &
(A) CH, (B) CH,COOH
(C)  C,HgNH, (D) C,HsCOOH

CH;CN on reduction gives

(A) CH, (B) CH,COOH

(C) C,HgNH, (D)  C,H,COOH

46. WAQ WA I &

(A)  HCIO, (B) HCIO,
(C)  HCIO, (D)  HCIO
The strongest acid is

(A}  HCIO, (B) HCIO,
(Ci HCIO, (D) HCIO

f_l 18 | B [(A)-9005-Bis2) Page 16 of 28




4+ 3343?-?%%57*‘6*?534372';:;? TH OF TR =T R AT
A Ol Br 20
<) 30 {D} $-0
23+:2 gm of sugar syrup contains 34-2 gm sugar. What is the molanty of the
solution ?
{A) 01 (B} 20
(C) 30 (D) <0
38, T wNhHRG W wE v SeteteR g e e 0
CHCL+0, X, . +HCI?
&)  co, B) Ci,
) coci, D) ™ & @
Which one of the following is the main product of the reacton
CHCl, +o, bt , +HC1 ?
A}  Co, (B} Cl,
(C) cocl, (D) None of these
49.  [UPAC Wil & GERR 7 =5 ¢
W e B) U
C) R D) TURA
The name of acetone in IUPAC system is
(A) Mcthanal {B) Ethanal
(C) Propanone (D) Ethanone
50. TS R wH T =Y §
A H0 ® o,
(€} NaCl D) CH,
[ 118 | B [(A)-9005-Baz] Page 17 of 28




51.

52.

o it I8
The subntance which exhibits parnmagnetism

W 10 O

() Nacl D) Gyl

framser w8} a0 e &

(A et afufim gr B EIEEE A sttt g

C)  wied-wy b g (o) ¥ 4 &I A

Mcthylamine can be prepared by

(A)  Wurtz reaction (B) Hofmann bromamide reactiop
(C)  Fricde)-Crafts reaction (D)  Nonc of these

BT YRRITE F YT &
(A) CuFeS (B) CuFcS,
(C) Cu,S (D) CuyFeS,

The formula of copper pyrite is

(A) CuFeS (B) CuFeS,
(€} Cu,s (D)  CuyFeS, .

001 M R faerm @ qern 1 0.01 M MgCL, Faeram & fimies § sramm ¢
(A} TR (B) W G

() &mm fan (D) #MNI B

In comparison to 0-01 M solution of glucose, the de

Pression in freczing point of _
001 M MgCl2 solution is

(A)  same (B)  about twice

(C)  about three times (D) about six times

|118]B T-A"Tgoos-mm Page 18 of 28




37,

(118 B (A)-9005-Biaz

B2 T FTA 3 W W )

(A} CH3NO, (B) CH,COOH

(€} CH,HCH,NH, (D)  H,NCHL,COOH
Which one is capable of forming zwitterion ?

(Al CH4NO, (B) CH,COOH

(€)  CH,CH,NH, (D) H,NCH,COOH

et fafy 3 urg & siewrs & ageas § v w b
(A) Al
(C) Mg

B) C
D) co

The process of smelting involves reduction of mctal oxide with
(A) Al

€ Mg

B) C

D) co
UF 3= =i ) aiffma A+B—cHfamw e

A = k(AP B B) T = KjA)|B°
€ | = ka5 (D) FTH I 13 T
The rate of zero order reaction A+B—Cis

(A)  Rate = K|A]%BP (B)  Rate= K|a}'|B)°

(€  Rate = kAP 5}

>
SR VTG LU R — 3

(D) none of these

(A) CH,;COOH (B)  CH,CH aNHOH
(C) CH,CONH, (D) CH,;CHO

Page 19 of 28



i TN

The y
Product of the reaction CH N s i

CH,Cooy )  CH,CHNHOH
Q CH,CoNN, M) CH,CHO

S8 T A Wy v g v e o k)

A} F-f

(B) Cl=Cl
> B PN (D} Br-Br
Which of the following bonds is the strongest ?

Al F-F (B) Cl=-Cl
< 1-1 (D} Br-Br

59, fafw 4 e

x . .

& e (B) e
) erdrste D) I
Vitamin A is known as
(A)  Ascorbic acid (B)  Retinol
iIC1 Cakiferol (D) Tocopherol

60. T WER Iaw | 9rar FEE U €

i @ L
) ®R (D) wifemm
The metal always found in frec state is
{A) Gold {B) Silver
{C) Copper (D) Sodium

l 118 | B r——_(m-QOOS-Bwﬂl Page 20 of 28




o I A e 1 N Wt et arfinr B
Wi 11 2al Ths !
AV ST Ry g ) WIEAECR ga T
V) A) i () €5 () 1 g i
The heat way 4 Mrotect iron from rusting
(A) Mmaking jrap cathode (£3) putting it in saline watery
€ bowy (A) and (13) (D) none of these
o) TR WM A b ?
(A) Call,OCH, (8)  CH,0CH,
) eaoe,n, (D) 8 A
Which iy ethoxy ethane 7
A ¢, ,ocH, B)  CHy0CH,
€ ¢ H,0C, 1, (D) None of these
63 P11 fgis Wreitfyran § 5
(A w@fE B)  watE
© W Gy O o,
Which of the following hag magnesium ?
(A) Chloraphyl) (B) Haemocyanin
(C) Carbonic anhydrase (D) Vitamin By,
64.  Fmifer sfufre @ Wy e ¥
1
@’ D'O? Sn¢HCI
(A)  C,H,0H B)  ChHgNH,
(C) CoHyCH, (D) CeH,
[ 118 | B [(Ar000550s Page 21 of 28




66.

67.

\w/ WA

The man product of the following reaction is

NO,
_Sn-HCl

(Al C,H.OH

{B‘ Cl’..}‘!:-"‘Hd'

(€1 CeHsCH, D)  C,H,

Tt 3 #% 3w S sfva 2 ?

A)  FF= B) TEwEm

(C) TTenw wRE=mz 4D) TEE I

Which of the following is artificia) sweelcning agent ?

(A) Saccharin (B)  Aspartame

(C) Sodium cyclomate (D} All of these

F=1 & wmem vt e k)

(B} HGwH-6
(€ ZEA-§ (D) s

Which onc of the following is natural polymer ?

(A)  Protein (B)  Nylon-6
(C} Buna-S

D} Tenvlene

FIEITRS ST (1v) FARRE 77 78 wE
(A} [PUNH,),[CL, (B)  [PuNH,), |CL,

(€ [PUNH,),Cl, (D) [PNH, ) jC),

[ 118 ] B |(A)-9005-Bis
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69.

The corree
"t formula of hexamine platinum {1V) chiaride in

(A {PYN
b PuNRy o1, B PN, L IC

C y »
€ PuNmy )1, (D [PUNH, |Cl
e 8 g s KiFeeirn 3 & TIHAT R 7

tA) NaCl
\LC}/ Fig

Which onc of the following is an example of an amorphous solid ?
(A)  NaCt

(B) ZnS

(D) SiC

(B) ZnS

(C) Glass (D) SiC
A § W s e §

A)  aEw (B) §9 &
(C) Fada® BT WIS T

Which onc of the following is a colligative property ?

(A) Viscosity (B) Surface tension

(C} Refractive index (D)  Osmotic pressure
185 AR i Al S uwea & foig feas amde @ swavasd g 2
Wy 30~10°C (B) 28-95x10%C

(C) 2895x10°C (D} 2895 x 10°C

How much charge is required for reduction of 1 mole of A 10 AL?
(A) 3-0x10°C (B) 2895x10°C

(C) 289-5x10°C (D) 2895 > 10°C

[ 118 ] B |(A)-9005-Boa Poge 23 of 28




WY - 4 / SECTION - B
Y I W / Short Answer Type Questions
. . ~ ~ - . . N . N
WA WEA 1 § 20 Y I F 1 faRi 10 WA & Ay § 1 99w & AU 2
ﬁl’ﬂfﬁﬂ?‘: 1032"20

Question Nos. 1 to 20 are Short Answer Type. Answer any 10 questions. Each questio™

cames 2 marks : 10 » 2 =~ 20

DA . R e PR ey 2
Differentiate between methanoic acid and ethanoic acid.

/{ IR T W] T e w99 £ a2 2
Noble gases have comparatively large atomic radius. Why ?

¥ Ha & AN 77 H A= A T 2 2
Glass is assumed to be a supercooled liquid. Why ?

P

T &A1 & I n-GiZ FARES Fi (ehleiicin KOH & Wig Wialhal &) s & 7

What happens when a-butyl chloride is treated with alcoholic KOH ?°

5.  PH,H NH, &1 H&~ &0 931 & | &4 7

Bond angle in NH; is greater than in PH,. Why ?
6. TrtaiGa swct-ema Sl H qut i ;

i)  CH3CH,CH,NH, + HCl—

1!] [C2H513N *HC‘ —

|118]B |(A)-9005-Bpaa)| Page 24 of 28




Cmplctc the followink acid-x

ase repction®

i) cn,cn,(m,hn, + HCl--e ==
‘. i) (CatlshsN +HCl— )
1. 'z&az‘m&;wammﬁm-mwmt ?
What are the cxpected products of hy drolysis of Jactos€ ?
_;/ ~an5 e Tty e § 2 TN T WAL 2
. Define double salts with suitable examples.
: 2

y -

L

)%

S

e YRAR & HE-HE T £7?

Who are the members ol halogen family ?

mﬁza:mm4m (IR = 40) o W § HieE< 200 cm? FEEET T T4
Faer 1 SR T FRTC) "2
4 gram of caustic soda ( molar mass; 40 ) is dissolved in water and solution is

made to 200 cm? . Calculate the molarity of solution.

- ZETR w1 6T GOeH TN E ? 2
;Whal arc the main constitucnts of Dettol ?

. g iy 4 P S & o ) wifke e W € 2 SRS o

Which type of ores are concentrated by froth lloation process ? Give cxamples
fpeileT eSieet § 4RI FG ¢ F4T 2 |

Phenol is more acidic than alcohol, Whjr ?

| §18 | B [(A)-9005-Br2 Page 25 of 28



14

LY

:‘;:t‘.':— R olls i " b/ 3 e & Ly
“ BlC TH g * c.':‘]:‘?:: o -:r:'-:-_;: tgar ¥ VA #Fi U4 yetnan #
71 5= ¥ s om £

AT

e m b - - i !
orms BCC crystal Calculate the atomsc radius of Lathium if the lengeh

~F 2
-l \‘—E b F ¥ -
s:de of a unut cell of Lithwum 1s 351 pm
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Trans:ion clements exhibit vanable oxidauon state. Why 2
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rate constant for first order reaction is 0-0005 min~'. Calculatc uts half
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What do you understand by secondary cell ?
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2! ViZ=23) (i) 2Zn(Z=30)
Write clectronic configuration of the following clements :
o V(Z=23) i} Zn(Z=30)
jo. FEIEWIAFE FRFTT T WA SO FE SR 7

What are the factors which influence the adsorption of a gas on & solid ?
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Methylamine is more basic than aniline. Give reason.
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e I 0y / Long Answer Type Questions

question ecarrics S marks :
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a)
b) Write the reactions of concentrated sulphuric acid with oxalic acid.
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Write the principle of manufacture of sulphuric acid by contact process.

3+2
Derive an expression for the rate constant of a first order reaction.

Whal is the difference between osmosis and diffusion ?
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ii) N, N-STEAE g
i) 2-THAIRITE

al What happens when —
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i) Methyl bromide is treated with sodium in presence of dry ether ?

ii) Ethyl acetate is hydrolysed in presence of acid ?
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Write the structures of compounds whose IUPAC names arc as follows :
1) 2-Butanol

1) N, N-dimethyl methanamine

1ii) 2-Aminotoluenc.

HF, HCl, HBr Td HI ¥ Wad Va& 3a&HaE $id ¢ 2 2
fretefga stwmmait &t qoi s : 1%+ 1%

i) CzH,‘ + 02 —'i"""’

ii) 4Al +30, —2—»
Among HF, HCI, HBr and HI, which is the strongest reducing agent ?

Complete the following reactions :

i} CyH4 +0p——

i) 4Al 430, -—
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What are artificial swecetening agents ? Give two examples.

What arc csscntial and non-cssential amino acids ? Give cxamples of

cach type.
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What is clevation of boiling

point ? Find the relation between elevation of bolling

point and molar mass of solute.
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